

On the Lengths of the Pieces of a Stick Broken at Random Author(s): Lars Holst Source: *Journal of Applied Probability*, Vol. 17, No. 3 (Sep., 1980), pp. 623-634 Published by: Applied Probability Trust Stable URL: https://www.jstor.org/stable/3212956 Accessed: 27-11-2019 21:54 UTC

JSTOR is a not-for-profit service that helps scholars, researchers, and students discover, use, and build upon a wide range of content in a trusted digital archive. We use information technology and tools to increase productivity and facilitate new forms of scholarship. For more information about JSTOR, please contact support@jstor.org.

Your use of the JSTOR archive indicates your acceptance of the Terms & Conditions of Use, available at https://about.jstor.org/terms



Applied Probability Trust is collaborating with JSTOR to digitize, preserve and extend access to *Journal of Applied Probability*

J. Appl. Prob. 17, 623–634 (1980) Printed in Israel 0021–9002/80/030623–12 \$01.45 © Applied Probability Trust 1980

ON THE LENGTHS OF THE PIECES OF A STICK BROKEN AT RANDOM

LARS HOLST,* Uppsala University

Abstract

Consider the pieces of a randomly broken stick. How long is the *j*th longest piece? How many breaks are necessary for getting all pieces less than a given length? These and related questions are studied in particular when the number of pieces is large. Using simple properties of the exponential distribution new proofs are given of old results and new results are obtained.

SPACINGS; UNIFORM DISTRIBUTION; EXPONENTIAL DISTRIBUTION; COVERING A CIRCLE; ORDER STATISTICS; LIMIT THEOREMS

1. Introduction

A stick of length 1 is broken at random into *n* pieces. To be more specific, let the stick be the unit interval and the breaking points be given by a random sample of size n - 1 from the uniform distribution on this interval. These points divide the stick into *n* random intervals whose lengths we denote in order of magnitude by $S_{(1)} < S_{(2)} < \cdots < S_{(n)}$.

In Section 2 the exact distribution of $S_{(i)}$ is derived. Also moments of $S_{(i)}$ are obtained and some useful representations using independent exponential random variables are given.

For *j* fixed convergence of the distribution and the moments of the upper extreme value $S_{(n-j)}$, suitably normalized, is proved in Section 3. The same questions are studied in Section 4 for the lower extreme value $S_{(j)}$.

In Section 5 a necessary and sufficient condition for asymptotic normality is given, and convergence of moments is obtained for linear combinations of $S_{(1)}, \dots, S_{(n)}$.

In the last section the number of points N_{α} in order to get length less than α for each interval is studied. A limit distribution for N_{α} is derived and convergence of moments is proved when $\alpha \rightarrow 0$. The random variable N_{α} can also

Received 4 June 1979; revision received 23 July 1979.

^{*} Postal address: Department of Mathematics, Uppsala University, Thunbergsvägen 3, S-752 38 Uppsala, Sweden.

be interpreted as the minimum number of arcs of length α placed at random on a circle of length 1 in order to get complete coverage.

Some words about notation. The interval lengths ordered along the line will be denoted by S_1, \dots, S_n . Independent exponential random variables with mean 1 will always be denoted by X_1, X_2, \dots, X_n and then order statistics by $X_{(1)}, \dots, X_{(n)}$.

The random variables S_1, \dots, S_n are usually called spacings on which a huge literature exists, see Pyke (1965), (1972), and Rao (1976) and the references therein. But the author has not found any systematic study of the order statistics. Further references will be given in connection with the different questions considered below.

2. Exact results

The following theorem and variants of it has been proved in different ways and contexts, see e.g. Whitworth (1897), Problem 667, Fisher (1929), (1940), Stevens (1939), Darling (1953), Flatto and Konheim (1962), Kendall and Moran (1963), p. 31, and Feller (1966), p. 28.

Theorem 2.1.

$$P(S_{(n-j)} \leq x) = \sum_{\mu=0}^{j} {n \choose \mu} \sum_{\nu=0}^{n-\mu} (-1)^{\nu} {n-\mu \choose \nu} (1-(\mu+\nu)x)_{+}^{n-1}$$

where $a_{+} = \max(a, 0)$.

Proof. Using indicator functions set $I_k = I(S_k > x)$. Evidently we have

$$P(S_{(n-j)} \leq x) = P\left(\sum_{k=1}^{n} I_k \leq j\right).$$

By symmetry the random vector (I_1, \dots, I_n) is exchangeable. Therefore

$$P\left(\sum_{i=1}^{n} I_{k} = \mu\right) = {n \choose \mu} E\left(\prod_{i=1}^{\mu} I_{k}\prod_{\mu+1}^{n} (1-I_{k})\right)$$
$$= {n \choose \mu} \sum_{\nu=0}^{n-\mu} {n-\mu \choose \nu} (-1)^{\nu} E\left(\prod_{i=1}^{\mu+\nu} I_{k}\right).$$

From this the assertion follows if we can show that

$$E\left(\prod_{1}^{r} I_{k}\right) = P(S_{1} > x \cap \cdots \cap S_{r} > x) = (1 - rx)_{+}^{n-1}.$$

This can be seen in the following way. Let r = 2, the general case is proved analogously. Consider

$$P(S_1 > x \cap S_2 > x) = P(S_1 > x)P(S_2 > x \mid S_1 > x).$$

The event $\{S_1 > x\}$ means that all n - 1 breaking points are randomly distributed in the interval (x, 1). Given that event the probability that the distance between the first and the second point exceeds x is by symmetry the same as the probability that the distance from the point x to the first point exceeds x. Thus

$$P(S_2 > x \mid S_1 > x) = P(\text{all points in } (2x, 1) \mid \text{all points in } (x, 1))$$

and therefore

$$P(S_1 > x \cap S_2 > x) = P(\text{all points in } (2x, 1)) = P(S_1 > 2x) = (1 - 2x)_+^{n-1}$$

which completes the proof.

Using simple properties of the Poisson process the following well-known results for the exponential distribution are easily proved, see e.g. Feller (1966), Sections I.6, III.3 and Pyke (1965), Sections 4.2-4.4.

For independent exponential random variables X_1, \dots, X_n with mean 1 and with

$$T_n = \sum_{k=1}^n X_k$$

we have

$$(S_1, \cdots, S_n) \sim (X_1/T_n, \cdots, X_n/T_n)$$

where \sim means 'have the same distribution as'. Furthermore $(X_1/T_n, \dots, X_n/T_n)$ and T_n are independent and T_n is gamma (n, 1)-distributed. Hence

$$(S_{(1)}, \cdots, S_{(n)}) \sim (X_{(1)}/T_n, \cdots, X_{(n)}/T_n).$$

It is also well known that order statistics from the exponential distribution have the representation given by

$$X_{(i)} \sim X_n/n + X_{n-1}/(n-1) + \cdots + X_{n-i+1}/(n-i+1).$$

Theorem 2.2.

$$E(S'_{(i)}) = E(X'_{(i)})\Gamma(n)/\Gamma(n+r)$$

and

$$E(nS_{(i)}) = E(X_{(i)}) = \sum_{\nu=0}^{i-1} 1/(n-\nu).$$

Proof. As the random variables T_n and $X_{(i)}/T_n$ are independent and T_n is gamma(n, 1) we have

$$E(X'_{(i)}) = E((X_{(i)}/T_n)'T'_n) = E((X_{(i)}/T_n)')E(T'_n)$$

= $E(S'_{(i)})\Gamma(n+r)/\Gamma(n)$

proving the first assertion.

Taking r = 1 and using the representation for $X_{(i)}$ given above the second assertion follows.

We may remark that the method used above is very convenient for calculating arbitrary mixed moments of spacings, cf. Pyke (1965), Section 2.1, 4.4.

3. Asymptotic results for upper extreme values

The exact distribution for $S_{(n-j)}$ given by Theorem 2.1 is unsuitable for numerical calculations if *n* is large and *x* small. Therefore approximations are of interest. The asymptotic distribution of $S_{(n)}$ has been obtained by e.g. Lévy (1939), Darling (1953), and LeCam (1958). In LeCam (1958), p. 14 the asymptotic distribution for $S_{(n-j)}$ is implicitly given. We will give a simple derivation using a method based on the representation $S_{(n-j)} \sim X_{(n-j)}/T_n$, (cf. Holst (1980), Theorem 1) where a more complicated situation is considered. The notation $\stackrel{\text{D}}{\rightarrow}$ is used for convergence in distribution.

Theorem 3.1. For every fixed $j = 0, 1, 2, \cdots$

$$nS_{(n-j)} - \ln n \xrightarrow{D} Z_j, \qquad n \to \infty,$$

where

$$P(Z_{j} \leq x) = \sum_{\nu=0}^{l} (e^{-x})^{\nu} e^{-e^{-x}} / \nu!.$$

Proof. From the representation $S_{(n-j)} \sim X_{(n-j)}/T_n$ we have

$$P(nS_{(n-j)} - \ln n \leq x) = P(X_{(n-j)} - \ln n \leq x + (x + \ln n)(\overline{T}_n - 1)),$$

where $\overline{T}_n = T_n/n = \sum_{i=1}^n X_k/n$. As $E(\overline{T}_n) = 1$ and $\operatorname{Var}(\overline{T}_n \ln n) = (\ln n)^2/n \to 0$ the random variable $nS_{(n-j)} - \ln n$ has the same asymptotic distribution as $X_{(n-j)} - \ln n$. Now

$$P(X_{(n-j)} \leq x + \ln n) = P(Y_n \leq j),$$

where by the independence of the X's

 $Y_n = \sum_{k=1}^n I(X_k > x + \ln n) \sim \text{binomial}(n, P(X_1 > x + \ln n)).$

As

$$EY_n = n \cdot P(X_1 > x + \ln n) = e^{-x}$$

it follows that

$$Y_n \xrightarrow{D} \text{Poisson}(e^{-x}), \quad n \to \infty.$$

Hence

$$P(X_{(n-j)} - \ln n \le x) \to \sum_{\nu=0}^{j} (e^{-x})^{\nu} e^{-e^{-x}} / \nu!.$$

As $nS_{(n-j)} - \ln n$ has the same asymptotic distribution, the theorem is proved. Next convergence of moments is considered.

Theorem 3.2. For fixed $j, r = 0, 1, 2, \cdots$ and Z_j defined as in Theorem 3.1

$$E(nS_{(n-j)}-\ln n) \rightarrow EZ_j = \gamma - \sum_{i=1}^{j} 1/i,$$

where γ is Euler's constant, and

$$E((nS_{(n-j)}-E(nS_{(n-j)}))^{r})\rightarrow E((Z_{j}-EZ_{j})^{r}),$$

when $n \to \infty$.

Proof. The first assertion follows from Theorem 2.2 and the well-known limit

$$\sum_{1}^{n} 1/i - \ln n \to \gamma, \qquad n \to \infty,$$

cf. the discussion after Theorem 3.3 below.

By the results of Section 2 we have

$$E((nS_{(n-j)} - E(nS_{(n-j)}))^{r}) = E((X_{(n-j)} / \bar{T}_{n} - E(X_{(n-j)}))^{r})$$

$$= \sum_{\nu=0}^{r} \binom{r}{\nu} (-1)^{\nu} E((X_{(n-j)} / \bar{T}_{n})^{\nu}) (E(X_{(n-j)}))^{r-\nu}$$

$$= \sum_{\nu=0}^{r} \binom{r}{\nu} (-1)^{\nu} E(\bar{T}_{n}^{\nu})^{-1} E(X_{(n-j)}^{\nu}) (E(X_{(n-j)}))^{r-\nu}$$

$$= \sum_{\nu=0}^{r} \binom{r}{\nu} (-1)^{\nu} E(X_{(n-j)}^{\nu}) (E(X_{(n-j)}))^{r-\nu} + O((\ln n)^{r} / n)$$

$$= E((X_{(n-j)} - EX_{(n-j)})^{r}) + O((\ln n)^{r} / n)$$

$$\to E((Z_{j} - EZ_{j})^{r}), \quad n \to \infty,$$

because by Theorem 3.3 below $E(\tilde{T}_n^{\nu}) = 1 + O(1/n)$, $EX_{(n-j)}^{\nu} = O((\ln n)^{\nu})$ and the central moment converges.

Theorem 3.3. For fixed $j, r = 0, 1, 2, \dots$ and z with Re z > -1, when $n \rightarrow \infty$,

$$E(\exp(-z(X_{(n-j)}-\ln n))) \to E(e^{-zZ_j}) = \Gamma(1+z) \prod_{\nu=1}^{'} (1+z/\nu),$$

where $\prod_{\nu=1}^{0} (1 + z/\nu) \equiv 1$, and

$$E((X_{(n-j)} - \ln n)') \rightarrow E(Z'_j),$$

with

$$E(Z'_i) = (-1)^r \left(\frac{d}{dz}\right)^r \left(\Gamma(1+z) \prod_{\nu=1}^j (1+z/\nu)\right)\Big|_{z=0}$$

Proof. Using the representation of $X_{(i)}$ we have

$$E(e^{-zX_{(n-j)}}) = E(\exp(-z(X_n/n + \dots + X_{j+1}/(j+1))))$$

= $\prod_{\nu=j+1}^n (1 + z/\nu)^{-1}$
= $E(e^{-zX_{(n)}}) \prod_{\nu=1}^j (1 + z/\nu).$

By the distribution function transformation we have

$$e^{-X_{(n)}} \sim S_{1}^{*}$$

where S_1^* is the minimum in a sample of size *n* from a uniform distribution on (0, 1). Hence

$$E(e^{-zX_{(n)}}) = E(S_{1}^{*z}) = E(X_{1}^{z})/E(T_{n+1}^{z})$$

and therefore when $n \rightarrow \infty$

$$E(e^{-z(X_{(n)}-\ln n)}) = E(X_1^z) / E\left(\left(\sum_{1}^{n+1} X_k/n\right)^z\right) \to EX_1^z = \Gamma(1+z).$$

Thus the first assertion is proved. The second follows from the first, because convergence of the Laplace transform in an open interval surrounding the origin implies convergence of the moments. The third assertion follows trivially.

From the proof follows in Re z > -1 the existence of the following limit

$$\lim_{n\to\infty} n^z n! / \prod_{\nu=1}^n (\nu+z) = \int_0^\infty t^z e^{-t} dt.$$

Hence we have given a probabilistic proof of the fact that the two definitions of the gamma function by Euler and Gauss are equivalent.

By Theorem 3.3 the cumulant generating function of $X_{(n)} - \ln n$ converges to $\ln \Gamma(1-t)$ for t < 1. Thus the following hold:

$$E(X_{(n)} - \ln n) = \sum_{1}^{n} 1/i - \ln n \to \gamma = \frac{d}{dt} \ln \Gamma(1-t) \Big|_{t=0} = -\int_{0}^{\infty} (\ln u) e^{-u} du$$

and

$$\operatorname{Var}(X_{(n)} - \ln n) = \sum_{1}^{n} 1/i^{2} \to \pi^{2}/6 = \frac{d^{2}}{dt^{2}} \ln \Gamma(1-t) \Big|_{t=0}$$
$$= \int_{0}^{\infty} (\ln u)^{2} e^{-u} du - \left(\int_{0}^{\infty} (\ln u) e^{-u} du \right)^{2}.$$

We also get for $\operatorname{Re} z > -1$ that

$$e^{-\gamma z}\left(\prod_{\nu=1}^{\infty}(1+z/\nu)e^{-z/\nu}\right)^{-1}=\Gamma(1+z).$$

628

Hence with probability one $\gamma + \sum_{\nu=1}^{\infty} (X_{\nu} - 1)/\nu$ is a random variable with distribution function $\exp(-e^{-x})$ and Laplace transform $\Gamma(1+z)$.

4. Asymptotic results for lower extreme values

The asymptotics of the lower extreme values $S_{(j)}$ for fixed $j = 1, 2, 3, \cdots$ will be considered now. Lévy (1939), Darling (1953), LeCam (1958), and Flatto and Konheim (1962) have studied convergence of the distributions.

Theorem 4.1. When $n \rightarrow \infty$

$$n^2 S_{(j)} \xrightarrow{D} Y_j$$

and

$$E((n^2 S_{(i)})') \rightarrow E(Y'_i)$$

where $Y_i \sim \text{gamma } (j, 1)$.

Proof. By the representation of $S_{(i)}$

$$P(n^2 S_{(i)} \leq x) = P(n X_{(i)} \leq x + x(\overline{T}_n - 1)).$$

As $\overline{T}_n \rightarrow 1$ in probability it is sufficient to consider the convergence of $nX_{(j)}$. But

$$nX_{(j)} \sim n(X_1/n + X_2/(n-1) + \cdots + X_j/(n-j+1)) \xrightarrow{D} X_1 + X_2 + \cdots + X_j \sim Y_j$$

proving the first statement.

By Theorem 2.2 we have

$$E((n^{2}S_{(j)})') = E((nX_{(j)})')/E(\bar{X}'_{n}) \to E(Y'_{j})$$

because

$$E((nX_{(j)})') = E((X_1 + X_2n/(n-1) + \dots + X_jn/(n-j+1))')$$

$$\to E(X_1 + \dots + X_j)' = EY'_j.$$

5. Asymptotics for linear combinations

Linear combinations of order statistics of independent identically distributed random variables have been widely studied. In the special case of order statistics from the uniform distribution Hecker (1976) gave necessary and sufficient conditions for convergence to N(0, 1), the standard normal distribution. The corresponding results for linear combinations of ordered spacings will be obtained now.

Theorem 5.1.

$$\sum_{i=1}^{n} a_i (nS_{(i)} - E(nS_{(i)})) \xrightarrow{D} N(0, 1)$$

if and only if

$$\max_{1 \leq i \leq n} (b_i - \bar{b})^2 \to 0$$

and

$$\sum_{i=1}^{n} (b_i - \bar{b})^2 \rightarrow 1$$

where

$$b_i = \sum_{j=i}^n a_j / (n - i + 1), \qquad i = 1, 2, \cdots, n,$$

and

$$\bar{b} = \sum_{i=1}^{n} b_i / n$$

Proof. Using the representation $S_{(i)} \sim X_{(i)} / T_n$ we find

....

$$\sum_{1}^{n} a_{i} S_{(i)} \sim \sum_{1}^{n} a_{i} X_{(i)} / T_{n} \sim T_{n}^{-1} \cdot \sum_{i=1}^{n} X_{i} \sum_{j=i}^{n} a_{j} / (n-i+1) \sim \sum_{1}^{n} b_{i} S_{i}.$$

Now $E(nS_i) = 1$ and $\sum_{i=1}^{n} S_i = 1$ and therefore

$$\sum_{i=1}^{n} a_i (nS_{(i)} - E(nS_{(i)})) \sim \sum_{i=1}^{n} b_i (nS_i - 1) = \sum_{i=1}^{n} (b_i - \bar{b}) nS_i \sim \sum_{i=1}^{n} (b_i - \bar{b}) X_i / \bar{T}_n.$$

Because $\overline{T}_n \rightarrow 1$ in probability, we have

$$\sum_{1}^{n} (b_{i} - \bar{b}) X_{i} / \bar{T}_{n} \xrightarrow{\mathsf{D}} N(0, 1)$$

if and only if

$$\sum_{i=1}^{n} (b_i - \bar{b})(X_i - 1) \xrightarrow{D} N(0, 1)$$

It is easily seen that the Lindeberg condition is equivalent to

$$\max_{1\leq i\leq n} \left(b_i - \bar{b}\right)^2 / \sum_{1}^n \left(b_i - \bar{b}\right)^2 \to 0.$$

Therefore, by the Lindeberg-Feller theorem, see e.g. Feller (1966), Section XV.6,

$$\sum_{i=1}^{n} (b_i - \bar{b})(X_i - 1) \xrightarrow{\mathbf{D}} N(0, 1)$$

if and only if

$$\max_{1\leq i\leq n} |b_i-\bar{b}| \to 0, \qquad \sum_{1}^n (b_i-\bar{b})^2 \to 1,$$

proving the theorem.

630

On the lengths of the pieces of a stick broken at random

Theorem 5.2. Let b_1, b_2, \dots, b_n be defined as in Theorem 5.1 and satisfy

$$\max |b_i - \bar{b}| \to 0, \qquad \sum_{i=1}^{n} (b_i - \bar{b})^2 \to 1.$$

Then for $r = 1, 2, \cdots$

$$E\left(\left(\sum_{1}^{n} a_{i}\left(nS_{(i)}-E\left(nS_{(i)}\right)\right)\right)^{r}\right) \rightarrow E(Y')$$

where $Y \sim N(0, 1)$.

Proof. We have as in Theorem 5.1 that

$$E\left(\left(\sum_{i=1}^{n} a_{i}\left(nS_{(i)}-E\left(nS_{(i)}\right)\right)\right)'\right)=E\left(\left(\sum_{i=1}^{n} (b_{i}-\bar{b})X_{i}/\bar{T}_{n}\right)'\right)$$
$$=E\left(\left(\sum_{i=1}^{n} (b_{i}-\bar{b})X_{i}\right)'\right)/E(\bar{T}_{n}')$$

by the independence between $(X_1/T_n, \dots, X_n/T_n)$ and T_n . As $E(\bar{T}'_n) \to 1$ it is sufficient to show that

$$E\left(\left(\sum_{i}^{n} (b_{i}-\bar{b})X_{i}\right)'\right) \rightarrow E(Y').$$

By the conditions on the b's it follows that for z in an open interval surrounding the origin

$$E\left(\exp\left(-z\sum_{i=1}^{n}(b_{i}-\bar{b})X_{i}\right)\right) = \left(\prod_{i=1}^{n}(1+z(b_{i}-\bar{b}))\right)^{-1}$$
$$= \exp\left(-\sum_{i=1}^{n}\ln(1+z(b_{i}-\bar{b}))\right)$$
$$= \exp(z^{2}/2 + o(1)).$$

Hence the Laplace transform converges for small |z| to that of the N(0, 1), implying the convergence of the moments given above. Thus the theorem is proved.

Note that asymptotic normality and convergence of moments of central order statistics $nS_{(j_n)}$, j_n and $n - j_n \rightarrow +\infty$, are consequences of the above results.

It is seen from the proofs that the random variable $\sum_{i=1}^{n} a_i (nS_{(i)} - E(nS_{(i)}))$ has the same asymptotic behaviour as $\sum_{i=1}^{n} a_i (X_{(i)} - E(X_{(i)}))$. We can say that the dependence among the S's coming from $\sum_{i=1}^{n} S_k = 1$ does not matter. In general, this dependence is important when considering asymptotic results for spacings. See e.g. LeCam (1958) where the asymptotic distributions are found for random variables of the type

$$\sum_{1}^{n} h_{n}(nS_{k}) = \sum_{1}^{n} h_{n}(nS_{(i)}),$$

where $h_n(\cdot)$ is a function depending on *n*.

Darling (1953) has also considered such random variables. This is also illustrated by Rao and Sethuraman (1975), Theorem 3.1, showing that the empirical distribution function of the spacings suitably normalized converges weakly to a Gaussian process with covariance kernel $e^{-y}(1 - e^{-x} - xye^{-x})$, $0 \le x \le y$. The covariance kernel for the corresponding process based on independent exponential random variables is $e^{-y}(1 - e^{-x})$.

6. The waiting time N_{α}

Let N_{α} be the minimum number of pieces until they all have a length at most α . Evidently

$$P(N_{\alpha} \leq n) = P(S_{(n)} \leq \alpha).$$

By Theorem 3.1 it follows that

$$P(N_{\alpha} \leq n) = P(nS_{(n)} - \ln n \leq n\alpha - \ln n) \rightarrow \exp(-e^{-x}),$$

if $n \to \infty$ and $\alpha \to 0$ such that $n\alpha - \ln n \to x$ or equivalently if

$$n\alpha - \ln(1/\alpha) - \ln\ln(1/\alpha) \rightarrow x.$$

Hence we have proved the following result.

Theorem 6.1. When $\alpha \rightarrow 0$,

$$P(\alpha N_{\alpha} - \ln(1/\alpha)) - \ln\ln(1/\alpha) \leq x) \rightarrow \exp(-e^{-x}).$$

The problem of finding the limit distribution of N_{α} was posed by Shepp (1972) in a paper on covering a circumference with arcs placed at random. In that context N_{α} can be interpreted as the minimum number of arcs, each of length α , for complete coverage of a circumference of length 1. In Flatto (1973), Edens (1975), Kaplan (1977), and Holst (1980) the limit distribution of the number of arcs to cover *m* times is obtained by different methods. The method used above follows Holst (1980).

Flatto and Konheim (1962) showed that $EN_{\alpha} \sim (1/\alpha) \ln(1/\alpha)$, the leading term of the asymptotic distribution. This was improved by Steutel (1967) proving

$$EN_{\alpha} = (1/\alpha)(\ln(1/\alpha) + \ln\ln(1/\alpha) + \gamma + o(1))$$

and by Edens (1975) showing that all the normalized moments of N_{α} converge to the corresponding of the limiting distribution $\exp(-e^{-x})$. Using Theorem 3.2 we will prove this in another way.

Theorem 6.2. Let Z have the distribution function $\exp(-e^{-x})$. Then

632

On the lengths of the pieces of a stick broken at random

$$E((\alpha N_{\alpha} - \ln(1/\alpha)) - \ln\ln(1/\alpha))^{r}) \rightarrow EZ^{r} = (-1)^{r} \Gamma^{(r)}(1).$$

Proof. Let A > 0 be fixed and x > A.

$$P(\alpha N_{\alpha} - \ln 1/\alpha - \ln \ln 1/\alpha > x)$$

= $P(S_{((\ln 1/\alpha + \ln \ln 1/\alpha + x)/\alpha + 1)} > \alpha)$
= $P([\cdots]S_{((\cdots)} - \ln [\cdots] > \alpha [\cdots] - \ln [\cdots])$
 $\leq P([\cdots]S_{((\cdots)} - \ln [\cdots] > x - \ln A(\alpha, x)),$

where for $0 < \alpha < \alpha_0$

$$A(\alpha, x) = \ln\left(1 + (\alpha + \ln \ln 1/\alpha)/\ln 1/\alpha + x/\ln 1/\alpha\right) < x/2.$$

Thus, by Theorem 3.2 we have for every $r = 1, 2, \cdots$ that

$$P(\alpha N_{\alpha} - \ln 1/\alpha - \ln \ln 1/\alpha > x)$$

$$\leq P([\cdots]S_{(\cdots)} - \ln[\cdots] > x/2)$$

$$\leq E(|[\cdots]S_{1\cdots} - \ln[\cdots]|')2'/x' \leq K_r/x'.$$

Therefore we have uniformly for $\alpha < \alpha_0$ the bound on the right tail

 $P(\alpha N_{\alpha} - \ln 1/\alpha - \ln \ln 1/\alpha > x) \leq K_r / x'.$

In an analogous way one gets a bound on the left tail. Then for every $r = 1, 2, \cdots$

$$P(|\alpha N_{\alpha} - \ln 1/\alpha - \ln \ln 1/\alpha| > x) \leq K_r / x'$$

uniformly in $0 < \alpha < \alpha_0$. This implies the uniform integrability of $(\alpha N_{\alpha} - \ln 1/\alpha - \ln \ln 1/\alpha)'$. Hence the assertion follows from Theorem 6.1.

Acknowledgement

This research was done while I was visiting the Department of Mathematical Statistics at Chalmers Institute of Technology and Gothenburg University in April 1979. I am very grateful to Professor Peter Jagers and Dr Torgny Lindvall for making the visit possible.

References

DARLING, D. A. (1953) On a class of problems relating to the random division of an interval. Ann. Math. Statist. 24, 239-253.

EDENS, E. (1975) Random covering of a circle. Indag. Math. 37, 373-384.

FELLER, W. (1966) An Introduction to Probability Theory and Its Applications, Vol. 2, Wiley, New York.

FISHER, R. A. (1929) Tests of significance in harmonic analysis. Proc. R. Soc. London A 125, 54-59.

FISHER, R. A. (1940) On the similarity of the distribution found for tests of significance in harmonic analysis and in Stevens' problem in geometrical probability. *Ann. Eugenics, London* 10, 14–17.

FLATTO, L. (1973) A limit theorem for random coverings of a circle. Israel J. Math. 15, 167-184.

FLATTO, L. AND KONHEIM, A. (1962) The random division of an interval and the random covering of a circle. SIAM Rev. 4, 211–222.

HECKER, H. (1976) A characterization of the asymptotic normality of linear combinations of order statistics from the uniform distribution. *Ann. Statist.* 4, 1244–1246.

HOLST, L. (1980) On multiple covering of a circle with random arcs. J. Appl. Prob. 17, 284–290.

KAPLAN, N. (1977) Two applications of a Poisson approximation for dependent events. Ann. Prob. 5, 787-794.

KENDALL, M. G. AND MORAN, P. A. P. (1963) Geometrical Probability. Griffin, London.

LECAM, L. (1958) Un théorème sur la division d'un intervalle par des points pris au hasard. Publ. Inst. Statist. Univ. Paris 7, 7-16.

LÉVY, P. (1939) Sur la division d'un segment par des points choisis au hasard. C. R. Acad. Sci. Paris 208, 147-149.

PYKE, R. (1965) Spacings (with discussion). J. R. Statist. Soc. B 27, 395-449.

PYKE, R. (1972) Spacings revisited. Proc. 6th Berkeley Symp. Math. Statist. Prob. 1, 417-427.

RAO, J. S. (1976) Some tests based on arc-lengths for the circle. Sankhyā B 33, 1-10.

RAO, J. S. AND SETHURAMAN, J. (1975) Weak convergence of empirical distribution functions of random variables subject to perturbations and scale factors. *Ann. Statist.* **3**, 299–313.

SHEPP, L. A. (1972) Covering the circle with random arcs. Israel J. Math. 11, 328-345.

STEUTEL, F. W. (1967) Random division of an interval. Statist. Neerlandica 21, 231-244.

STEVENS, W. L. (1939) Solution to a geometrical problem in probability. Ann. Eugenics. London 9, 315–320.

WHITWORTH, W. A. (1897) *Exercises on Choice and Chance*. Deighton Bell and Co.. Cambridge. (Republished by Hafner, New York (1959).)